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SIMILARITY

1.In AABC ray BD bisects ZABC A — D — C, side DE || side BC

A-FE-B

" AB AE
€n prove, B_C = ﬁ

o Watch Video Solution

Practice Set 11



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_89yVZwVxXRIx

1. Base of a triangle is 9 and height is 5. Base of another is 10 and height

is 6. Find the ratio of areas of these triangles.

o Watch Video Solution

2. In the adjoining figure

seg PS 1 ray RQ,seg QT 1 seg PR.If RQQ =6,PS =6 and PR =

I.J

R - Q S

o Watch Video Solution



https://dl.doubtnut.com/l/_gYEi6ABsdEcj
https://dl.doubtnut.com/l/_944dCSJn11z7

3. In adjoining figure
AP | BC,AD | | BC,thenfind A(AABC): A(ABCD)
&=

° Watch Video Solution

4. In figure

A(AABC)

BC | AB,AD | AB,BC =4, AD = 8 thenfind ————~
A(AADB)


https://dl.doubtnut.com/l/_HCihwjDoblfN
https://dl.doubtnut.com/l/_Y4dU6MDpHkW1

o Watch Video Solution



https://dl.doubtnut.com/l/_Y4dU6MDpHkW1

5.1n the adjoining figure , PQQ | BC, AD 1 BC then find the following

ratios
A(APQ@B)
A(APBCQC)
A
P
o
B Q D C

o Watch Video Solution

6. In the adjoining figure , PQ | BC, AD 1 BC then find the following

ratios


https://dl.doubtnut.com/l/_JiyMAH0ibMmU
https://dl.doubtnut.com/l/_2CHkVTIsO1SZ

A(APBC)
A(AABC)
A

O o
S

B Q

° Watch Video Solution

7.1n the adjoining figure , PQQ | BC, AD 1 BC then find the following

ratios


https://dl.doubtnut.com/l/_2CHkVTIsO1SZ
https://dl.doubtnut.com/l/_0L5m5Sx5SkDV

A(AABCQC)

A(AADC)
A
P
-
B Q D C

o Watch Video Solution

8.In the adjoining figure , PQ 1 BC, AD 1 BC then find the following

A(AADC)

tios —————
ratios A(APQO)



https://dl.doubtnut.com/l/_0L5m5Sx5SkDV
https://dl.doubtnut.com/l/_xHPjuNwc0OWv

° Watch Video Solution

Practice Set 12

1. Measurements of the some angles in the figure are given . Prove that

AP _ AQ
PB  QC

A

P 600

o Watch Video Solution



https://dl.doubtnut.com/l/_xHPjuNwc0OWv
https://dl.doubtnut.com/l/_A65J5QGMtQkF

2.In APQR,

PM = 15,
PQ = 25,
PR =20,
NR =38

whether lin NM is parallel to side RQ ? Give reason.

I)

/ N

° Watch Video Solution

3. In the adjoining figure X id any point in interior of triangle . Point X is
joined to vertices of traingle.seg PQ | | DE,

seg QR | |segEF . Then fil in the blanks to prove that |,


https://dl.doubtnut.com/l/_IiITcucFRTvO
https://dl.doubtnut.com/l/_17xbuRMAETqp

seg PR | |seg DF.

o Watch Video Solution

4. Given below some triangles and lengths of line segments . Identity in

which figures , Ray PM is bisector of ZQPR.


https://dl.doubtnut.com/l/_17xbuRMAETqp
https://dl.doubtnut.com/l/_JO7KyLitpyFR

° Watch Video Solution

5. Given below some triangles and lengths of line segments . Identity in
which figures , Ray PM is bisector of ZQPR.

(CTN_MK_MAT X P2 GEO CO1 E02 005 QO1png" width="80%">

° Watch Video Solution



https://dl.doubtnut.com/l/_JO7KyLitpyFR
https://dl.doubtnut.com/l/_1MP3vufuMcPH

6. Given below some triangles and lengths of line segments . Identity in

which figures , Ray PM is bisector of ZQPR.

Q
3.6

R 10 P

° Watch Video Solution

7. In

AMNP, NQ is bisector of /N.if MN =5, PN =17, MQ = 2.5


https://dl.doubtnut.com/l/_S5Z11zCNUq2k
https://dl.doubtnut.com/l/_0Cc3xeYO2CTN

then find QP.

M
25 5

Q

P 7

o Watch Video Solution

8.Find QP using given information in the figure.

M

14
25 Q



https://dl.doubtnut.com/l/_0Cc3xeYO2CTN
https://dl.doubtnut.com/l/_Pp6m1PjfmOQz

° Watch Video Solution

9. In
ALMN, Ray MT bisects /LMN, LM = 6,if MN = 10,TN = 8.

then find LT.

M 10 N

° Watch Video Solution

10. In

AABC,seg BD bisects ZABC,ifAB=x,BC =x+5, AD =z —2,.


https://dl.doubtnut.com/l/_Pp6m1PjfmOQz
https://dl.doubtnut.com/l/_v6tKzEPsbLbO
https://dl.doubtnut.com/l/_4NaFUSgFsFeE

Then find the value of x.

° Watch Video Solution

1. In

AABC,seg BD bisects ZABC and Ray CE bisects ZACB. ifseg .


https://dl.doubtnut.com/l/_4NaFUSgFsFeE
https://dl.doubtnut.com/l/_eRmbbFnMM9cr

then prove that ED||BC.

° Watch Video Solution

12.1n trapezium ABCD ,side AB||sidePQ||sideDC. AP=15, PD= 12, QC =14. Find

BO.

/ N

o Watch Video Solution



https://dl.doubtnut.com/l/_eRmbbFnMM9cr
https://dl.doubtnut.com/l/_8XMxUxffdCWG

13.1In the adjoining figure AB||CDI||EF. Find x and AE.

« U 8 Dy4
I—
—ee—py

“«— , c *E

° Watch Video Solution

Practice Set 13

1. As shown in adjoining figure , two poles of height 8 m and 4 mare
perpendicular to ground . If the length of shodow of smaller pole due to

sunlight is 6 m then how long will be the shadow of bigger pole at at the


https://dl.doubtnut.com/l/_8XMxUxffdCWG
https://dl.doubtnut.com/l/_HEvGfuBN5bWM
https://dl.doubtnut.com/l/_OdHaVIsFCzDx

same time?

P

4

i
Q 6 R B  «x

° Watch Video Solution

2. Are the triangles in the figure given similar ?

P
10 L
6
3
Q 8 R M 4

o Watch Video Solution



https://dl.doubtnut.com/l/_OdHaVIsFCzDx
https://dl.doubtnut.com/l/_IPXjJzcOBorT
https://dl.doubtnut.com/l/_m2xS1ddz83lI

3. In the figure seg AC and seg BD intersects each other at point P and

AP BP
P - DP .Then Prove that AABP~-ACDP.

D

A,

B

o Watch Video Solution

4.In trapezium PQRS, side PQ|| side SR. AR=5 AP and AS = 5AQ. Prove that

: SR = 5PQ


https://dl.doubtnut.com/l/_m2xS1ddz83lI
https://dl.doubtnut.com/l/_TxFkMwPAOKbK

o Watch Video Solution

5. In adjoining figure, ZABC = 75°, ZEDC = 75° state which two

traiangles are similar and by which test ? Also traingles by a proper one


https://dl.doubtnut.com/l/_TxFkMwPAOKbK
https://dl.doubtnut.com/l/_DfzLtKjSGeCC

to one correspondence

A

o Watch Video Solution

6. 1 ABCD is a parallelogram. Point E is on side BC, line DE intersects

Ray AB in point . T Prove that: DE x BE = CE x TE.


https://dl.doubtnut.com/l/_DfzLtKjSGeCC
https://dl.doubtnut.com/l/_9HeOnRFOMy0h

o Watch Video Solution

7.1n trapezium ABCD, side AB | | DC Diagonals AC and BD intersect in

0.1f AB = 20, DC = 6, OB = 15.Find OD.

C D

° Watch Video Solution



https://dl.doubtnut.com/l/_9HeOnRFOMy0h
https://dl.doubtnut.com/l/_TTl4i3Y5qU3W
https://dl.doubtnut.com/l/_1oOFSg5gtUjc

8. In

AABC,AP 1 BC,BQ 1. AC,B— P —C,A — Q — Cthen prove that

Q

B P C

o Watch Video Solution

9. In the figure , in AABC , point D on side BC is such that ,

ABAC =~ AADC then prove that ,CA*> = CB x CD.


https://dl.doubtnut.com/l/_1oOFSg5gtUjc
https://dl.doubtnut.com/l/_z6sYWOCtlyGh

A

° Watch Video Solution

Practice Set 14

1L.If AABC-APQR and AB: AP = 2:3,then fill in the blanks.

A( A ABC) (AB?® 2

2O
2 0O

A(L PQR)  (PQ)* 3

o Watch Video Solution

2. Ratio of correspoding sides of two similar traingles is3:5 , then find

ratio of their area.



https://dl.doubtnut.com/l/_z6sYWOCtlyGh
https://dl.doubtnut.com/l/_EyyxLaEw1R7v
https://dl.doubtnut.com/l/_xN1XRiYU4UWE

| ° Watch Video Solution

3.1f AABC-APQ, A(AABC) = 80, A(APQR) = 125, then fill in the

blanks.

° Watch Video Solution

4. ALMN-APQR, 9 x A(APQR) = 16 x A(ALMN). If QR = 20 ,

then find MN.

° Watch Video Solution

5. Areas two similar triangles are 225 sq. cm , 81 sr. cm If a side of the

smaller traingles is 12 cm, then find correspoding side of bigger traingle.

° Watch Video Solution



https://dl.doubtnut.com/l/_xN1XRiYU4UWE
https://dl.doubtnut.com/l/_RYnR5P6hoZ3J
https://dl.doubtnut.com/l/_roU0Zb8qWPkM
https://dl.doubtnut.com/l/_w8H1MrCJm9HZ

6. AABC and ADEF  are equilateral triangles. If

A(AABC): A(ADEF) = 1:2and AB = 4, find DE.

° Watch Video Solution

7. In the adjoining figure , seg PQ | | seg DE, A(APQF) = 20 sq
units . PF = 2, then find A(O DPQE) by completing the following

activity.

D

E Q F

o Watch Video Solution



https://dl.doubtnut.com/l/_FiiKmOmPouHM
https://dl.doubtnut.com/l/_SYxpUoRWJbQ7

Problem Set 1

. In AABC,B—D —C and BD =7,BC =20 Then find the

following ratio.
A(AABD)
A(AADC)

A

B D C

° Watch Video Solution

2. In AABC,B— D —C and BD =7, BC =20 Then find the

following ratio.


https://dl.doubtnut.com/l/_Ry55zeHuxObV
https://dl.doubtnut.com/l/_h30GNrgaiEwz

B D C

o Watch Video Solution

3. In AABC,B— D —C and BD =7,BC =20 Then find the

following ratio.


https://dl.doubtnut.com/l/_h30GNrgaiEwz
https://dl.doubtnut.com/l/_bykS3DFUzlSg

B D C

° Watch Video Solution

4. Ratio of areas of two triangles with equal height is 2:3 . If base of
smaller traiangle is 6 cm then what is the correponding base of the

bigger triangles.

° Watch Video Solution



https://dl.doubtnut.com/l/_bykS3DFUzlSg
https://dl.doubtnut.com/l/_dp9e3GN5Ub3C

5. In the figure given
A(AABC) ,
A(ADCB)

D

/ABC = /DCB = 90°. AB = 6, DC = 8. then

° Watch Video Solution

6. In the adjoining figure ,

PM = 10cmA(APQS) = 100 sqcmA(AQRS) =110 sqgcm  then


https://dl.doubtnut.com/l/_HoG1EpGgzVPk
https://dl.doubtnut.com/l/_Sy2zeQTzuEGZ

find NR.

!)

o Watch Video Solution

7. In the figure

A—D—-Cand B—E—C.seg DE| |side AB.if AD =5, DC = 3.


https://dl.doubtnut.com/l/_Sy2zeQTzuEGZ
https://dl.doubtnut.com/l/_Z24wy5yeIk88

then find BE.

A

o Watch Video Solution

8.In the adjoining figure bisectors of /B and ZC intersect each other in

point  X. Line AX intersects side BC in point Y.


https://dl.doubtnut.com/l/_Z24wy5yeIk88
https://dl.doubtnut.com/l/_QHmtodcftpAa

AX
AB =5, AC = 4, BC = 6then ﬁndﬁ.

A

B Y C

o Watch Video Solution

9.1n the figure given seg PA, seg QB, seg RC and seg SD are perpendicular

to line AD. AB = 60, BC' = 70, CD = 80 and PS = 280, then find PQ,


https://dl.doubtnut.com/l/_QHmtodcftpAa
https://dl.doubtnut.com/l/_6pl7P8ZewWTC

QR and RS.

o Watch Video Solution



https://dl.doubtnut.com/l/_6pl7P8ZewWTC

10. In O ABCD,seg AD | | seg BC. Diagonal AC and diagonal BC

pPC
intersect each other in point P. Then show that 7D - BP
A D
P
B C

o Watch Video Solution

11.In the adjoining figure , XY || seg AC. If2AX = 3 x BX and XY = 0.

Complete the activity to find the value of AC.


https://dl.doubtnut.com/l/_uZMqGmFYRgiN
https://dl.doubtnut.com/l/_PXoz23kWTZVl

Y

o Watch Video Solution

12. AMNT-AQRS : Length of altitude drawn from vertex T is 5 and
A(ATMN)
A(ASQR)

length of altitude drawn from vertex S is 9 . Find

° Watch Video Solution

Problem Set 1 Mcqs


https://dl.doubtnut.com/l/_PXoz23kWTZVl
https://dl.doubtnut.com/l/_XR3KGkCQgJk5

1. If in AABC and APQR for some one- one correpondence if

AB BC cA th
= = en
QR PR PQ

A Q

A. APQR-AABC

B. APQR-ACAB

C. ACBA-APQR

D. ABCA-APQR

Answer: A::B::C::D

o Watch Video Solution



https://dl.doubtnut.com/l/_oM7uy0ef0wKM

2. If in ADEF-APQR. /D = /Q, /R = /E , then which of the

following statement is false?

D
Q
X X
E F R P
. EF _ DF
"PR  PQ
s DE _ EF
"PQ RP
. DE _ DF
"QR  PQ
o EF _ DE
"RP QR
Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Wu9ExZyUt4SI

3.In AABC and ADEF. /B = /E, /F =~ /C and AB = 3DE then

which statement regarding two triangles is true?

A

A. The triangles are not congruent and not similar.

B. The triangles are similar but not congruent.

C.The triangles are congruent and similar.

D. None of the statements above is true.

Answer: A::B::C

o Watch Video Solution



https://dl.doubtnut.com/l/_gI1euBGNJlgG

4. AABC and ADEF both are equilateral triangles.

A(AABC): A(ADEF) = 1:2. .If AB =4 ,then what is the length of DE

?

A 2¢/2

B.4

C.8

D. 4+/2

Answer: B::D

o Watch Video Solution



https://dl.doubtnut.com/l/_pERVFIlMW2S6

5.In the figure seg XY|| BC, then which of the following statement is true?

A

o Watch Video Solution

6. In
AABC, AB = 3cm, BC = 2cm and AC = 2.5cm ADEF-~-AABC, EF :
What is the perimeter of ADEF'?

A.30cm

B. 22.5cm


https://dl.doubtnut.com/l/_kPqZhU4C3Ghm
https://dl.doubtnut.com/l/_pytisYdXXY7D

C.15cm

D. 7.5cm

Answer: A::C

o Watch Video Solution

7. The sides of two similar triangles are 4 : 9 . What is the ratio of their

area?

A 2:3

B.4:9

C.81:16

D.16:81

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_pytisYdXXY7D
https://dl.doubtnut.com/l/_3xaYVOOfQSkU
https://dl.doubtnut.com/l/_zWhuPMs5AVMK

8. The areas of two similar traingles are 18cm? and 32cm? respectively.
What is the ratio of their corresponding sides?

A 3:4

B.4:3

C.9:16

D.16:9

Answer: C::D

o Watch Video Solution

9.

AABC~-APQR, AB = 6cm, BC = 8cm, AC = 10cm and QR = 6cm.

. What is the length of side PR?

A.8 cm

B.10 cm


https://dl.doubtnut.com/l/_zWhuPMs5AVMK
https://dl.doubtnut.com/l/_owkfJUnUfA4j

C.4.5cm

D. 7.5cm

Answer: D

° Watch Video Solution

10.In AXY Z ,ray YM is the bisector of AXY Z where XY=YZ and X-M -Z

, then which of the relation is true ?

A. XM=MZ

B.XM + MZ

CXM > MZ

D. None

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_owkfJUnUfA4j
https://dl.doubtnut.com/l/_2pT13mTYvpVM
https://dl.doubtnut.com/l/_Cj4GisEo40Fw

M.In AABC, AB = 6cm, BC = 8cm and AC=10cmAABC is enlarged

to APQR such that the largest side is 12.5 cm . What is the length of the

smallest side of APQR ?

A.7.5cm

B.9cm

C.8cm

D.10 cm

Answer: a

o Watch Video Solution

12. In AABC,B — D — C and BD = 6cm, DC = 4cm what is the

ratio A(AABC)to A(AACD)?

A2:3

B.5:2


https://dl.doubtnut.com/l/_Cj4GisEo40Fw
https://dl.doubtnut.com/l/_fhHx5mqb2WuN

C.3:2

D.5:3

Answer: B

o Watch Video Solution

13. In

AXYZ,PQ| |YZ, X —P—Y and X—Q—Z.If%:% and XQ

What is XZ ?

A.15.6 cm
B.20.4 cm
C.7.8cm

D.10.2cm

Answer: B::C::D

° Watch Video Solution



https://dl.doubtnut.com/l/_fhHx5mqb2WuN
https://dl.doubtnut.com/l/_2aMqBbv176wB

14.In AABC ,Pis a point on side BC such that BP =4 cm and PC =7 cm.
A(AAPC): A(AABC) = e

All:7

B.7:11

C.4:7

D.7:4

Answer: B

o Watch Video Solution

15. In APQR seg RS is the bisector of

/PQR,PS =8,8Q = 6, PR = 20 then QR = ...

A.10

B.15


https://dl.doubtnut.com/l/_2aMqBbv176wB
https://dl.doubtnut.com/l/_tAOdlgeUA5yX
https://dl.doubtnut.com/l/_cjhrOyoZiV7r

C.30

D. 40

Answer: B

o Watch Video Solution

16. In AABC,line PQ | | sideBC, AP =3,BP =6,AQ =5 then

the value of CQ is ....cceu.

A. 20

B.10

C.5

D.16

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_cjhrOyoZiV7r
https://dl.doubtnut.com/l/_ev8oF22dEyg9

Problems For Practice

1. In the adjoining figure ,
seg BE | seg AB and seg BA | seg AD. If BE=6,AD =9, the find
A(AABE): A(ABAD)

E B

L

A D

o Watch Video Solution

2.The ratio of the areas of two traiangles with the common baseis 6: 5.
Height of the larger triangles is 9 cm gt Then find the correspoding

height of the smaller triangle.



https://dl.doubtnut.com/l/_VgBdQLJsLeiz
https://dl.doubtnut.com/l/_M3ZoCfuFoQEE

o Watch Video Solution

3.In the adjoining figure, RP: PK = 3.2, then find the value of
(i) A(ATRP): A(ATPK)
(i) A(ATRK): A(ATPK)

(iii) A(ATRP): A(ATRK)

T

R P K

o Watch Video Solution



https://dl.doubtnut.com/l/_M3ZoCfuFoQEE
https://dl.doubtnut.com/l/_G2BBMVA42vpu
https://dl.doubtnut.com/l/_NUZlth2Ko62C

4. In the adjoining figure seg DH 1 seg EF, seg GK | seg EF.
If DH =12 cm , GK =20 cm and A(ADEF) = 300° cm? , then find
(i) EF

(i) A(AGEF)

o Watch Video Solution

5. The ratio of the areas of two triangles with equal height is 3 : 2 . The
base of the larger triangle is 18 cm . Find the corresponding base of the

smaller triangle.



https://dl.doubtnut.com/l/_NUZlth2Ko62C
https://dl.doubtnut.com/l/_kOap7Pz7i5Nf

| o Watch Video Solution

6. In

ADEF, line PQ | |sideEF.DQ = 1.8, QF = 5.4, PE = 7.2. find DE.

D

v\

E F

o Watch Video Solution

7.In APQR seg RS is bisector of ZPRQ. PS = 6,5Q =8, PR = 15.

Find QR.


https://dl.doubtnut.com/l/_kOap7Pz7i5Nf
https://dl.doubtnut.com/l/_0VskYjivVPVY
https://dl.doubtnut.com/l/_q5O8B2RMV0Xv

° Watch Video Solution

8 In AXYZ, XY =YZ. Ray YM bisects/XYZ. X — M — Z prove

that M is midpoints of seg XZ.


https://dl.doubtnut.com/l/_q5O8B2RMV0Xv
https://dl.doubtnut.com/l/_7jfeUFJwrKhh

o Watch Video Solution

9. In the adjoining figure , seg ML || seg BC , seg NL || seg DC. Prove that

AM : AB = AN: AD .


https://dl.doubtnut.com/l/_7jfeUFJwrKhh
https://dl.doubtnut.com/l/_MxaXGjDTk4DP

o Watch Video Solution

10. 0 ABCD is a trapezium in which AB|| DC and its diagonals intersect

each other at points O . Show that AO : BO = CO : DO.

o Watch Video Solution

11. Point D and E are the points on sides AB and AC such athat AB =56,

AD =14 ,AC =7.2 and AE = 1.8 . Show that DE||BC.


https://dl.doubtnut.com/l/_MxaXGjDTk4DP
https://dl.doubtnut.com/l/_K5h7soSO9iUz
https://dl.doubtnut.com/l/_82XKUvL4MShy

A E C

o Watch Video Solution

12. In APQR , ray QS bisects of ZPQR.P — S — R. Show that
A(APQS) PQ

A(AQRS) ~ QR


https://dl.doubtnut.com/l/_82XKUvL4MShy
https://dl.doubtnut.com/l/_MrsHzNARen1t

Q R

o Watch Video Solution

13. In the adjoining figure , seg PQ || AB. Seg PR || seg BD. Prove that

OR||AD.


https://dl.doubtnut.com/l/_MrsHzNARen1t
https://dl.doubtnut.com/l/_Cl94VSLhdElB

B P C

o Watch Video Solution

14. In the adjoining figure ,

seg PA,seg QB,seg ,RC and seg SD are | toline AB = 6, BC =


https://dl.doubtnut.com/l/_Cl94VSLhdElB
https://dl.doubtnut.com/l/_kiKfkmiirmZo

then find PQ, QR and RS..

R/
P/Q/

al
v

o I o R |
<" B cc D

° Watch Video Solution

15. A vertical pole of a length 6 m casts a shadow of 4 m long on the
ground . At the same time a tower casts a shadow 28 m long . Find the

height of the tower.

° Watch Video Solution



https://dl.doubtnut.com/l/_kiKfkmiirmZo
https://dl.doubtnut.com/l/_mcU7C2ofkcf5

16. In

AABC,AB =5,BC =6, AC = 7. APQR~AABC. Perimeter of APQR

° Watch Video Solution

17. In
AABC, /B =90°,seg DE 1 side AC.AD =6,AB =12, AC = 18,

, then find AE.

A

D

]

o Watch Video Solution



https://dl.doubtnut.com/l/_fMzidQWVOI65
https://dl.doubtnut.com/l/_AWacnWw1bYJv

18. E is a point on side
CB,C — B— E,InAABC,AB = AC.Ifseg AD,BC,B — D — C and ¢

A

° Watch Video Solution

19.D is a point on side BC of AABC such that , ZADC = ZBAC. Show

that AC? = BC x DC.

° Watch Video Solution



https://dl.doubtnut.com/l/_AWacnWw1bYJv
https://dl.doubtnut.com/l/_laScNAy1B3Wq
https://dl.doubtnut.com/l/_7IfdLvDQy7CG

20. In

ARES, RE = 15, SE = 10. InAPFEA, PE = 8, AE = 12. Prove that AR

R P

S

° Watch Video Solution

21. In the adjoining figure
seg Ce L. side AB, segAD 1 side BC. Prove that

(i) AAEP-ACDP


https://dl.doubtnut.com/l/_IWtrkk7xotmw
https://dl.doubtnut.com/l/_jivh3K0bD3g6

(ilAAEP~-AADB

C

A E B

o Watch Video Solution

22, In the adjoining figure , if

AABN = AACM show that AAMN-AABC'.


https://dl.doubtnut.com/l/_jivh3K0bD3g6
https://dl.doubtnut.com/l/_yg8SBNJPB9Ix

C N

o Watch Video Solution

23. Let X be any point on side BC of AABC seg XM || side AB and seg XN

||side CA.M-N-T,T-B-X.Provethat: TX? = TB. TC.

° Watch Video Solution



https://dl.doubtnut.com/l/_yg8SBNJPB9Ix
https://dl.doubtnut.com/l/_T2e7zPFFDbOi
https://dl.doubtnut.com/l/_EXeABayEog3x

24.In the adjoining figure , seg AB || side DC, 0D =x OB =x-3,0C = x-5,

OA =3x -19. Find the value of x .

o Watch Video Solution

25. ADEF-AMNK If DE = 5 and MN = 6 , then find the value of

A(ADEF): A(AMNK)

o Watch Video Solution

26. If AABC~-ADEF such that the area of

AABCis9cm? and the area of ADEFis16cm? . If BC = 21 cm . Find


https://dl.doubtnut.com/l/_EXeABayEog3x
https://dl.doubtnut.com/l/_z0m3LCOuSvea
https://dl.doubtnut.com/l/_uLDGXVzHGxhZ

length of EF.

° Watch Video Solution

27. In the adjoining figure, seg DE|| side BC . If DE : BC =3: 5, then find

A(AADE): A(ADBCE)

B

D

A E C

o Watch Video Solution



https://dl.doubtnut.com/l/_uLDGXVzHGxhZ
https://dl.doubtnut.com/l/_kTvlwPLUDQEi

28.In AABC , PQ is a line segment intesecting AB at point P and AC at
point Q. PQ || BC. If PQ divides AABC into two equal parts equal in area,

find BP: AB .

° Watch Video Solution

29. In AABC,/ABC =90°. APAB, AQAC and ARBC are the
equilateral triangles contructed on sides AB , AC and BC repectively. Prove

that: A(APAB) + A(ARBC) = A(AQAC)

° Watch Video Solution

30.In AABC , seg DE|| side BC. If 2A(AADE) = A(LO DBCE). Show

that BC = /3 x DE.

° Watch Video Solution

Assignment 1



https://dl.doubtnut.com/l/_5nijeqLw3zW9
https://dl.doubtnut.com/l/_F1WxRPxuQZVz
https://dl.doubtnut.com/l/_4lbZaSwakFTv

1. Select the appropriate alternative :

In the adjoining figure ,

PQ| | AC.BP =6,PA =8,BQ = 9,then QC = ...,

A

A.15

B.12

C.18

D. 20

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_J7IJyThGkCqC

2.In the figure seg XY|| BC, then which of the following statement is true?

A

B C
L AB _ AX
" AC AY
5 AX _ AY
" XB AC
cAX  Av
YC XB
o AB _ AC
YO XB
Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_2IgXork1KYNn
https://dl.doubtnut.com/l/_bKVQYw6IAwGp

3. Solve the following questions :

AABC-APQRA(AABC): A(APQR) = 9:16Find BC:QR.

o Watch Video Solution

4. Solve the foloowing questions

APQR,seg RS is thebisector of /PRQ.PS =8,50Q = 6, PR = 20, tl

o Watch Video Solution

5. Perform any one the following activities:

In the adjoining figure , seg PM is a median . Prove that


https://dl.doubtnut.com/l/_bKVQYw6IAwGp
https://dl.doubtnut.com/l/_DxCmKIvQzZxJ
https://dl.doubtnut.com/l/_bWDO7kgLyf97

A(APQM) = A(APRM)

P

Q M R

o Watch Video Solution

6. Perform any one the following activities:

In the adjoining figure ,DX =4 ,DE =8, FY =6, OF = 12 . Complete the


https://dl.doubtnut.com/l/_bWDO7kgLyf97
https://dl.doubtnut.com/l/_OltTYM5SW7IZ

follwing activity to prove that seg XY || seg EF.

D

E F

o Watch Video Solution

7. Attempt any Two of the following:

In 0 ABCD seg AB ||seg CD . Diagonal AC and BD intersect each other


https://dl.doubtnut.com/l/_OltTYM5SW7IZ
https://dl.doubtnut.com/l/_DWLwUiUQFcAQ

A(AABP) AB?
A(ACPD)  CD?

at point P. Prove:

D C

[)

A B

o Watch Video Solution

8.D is a point on side BC of AABC such that , ZADC = ZBAC. Show

that AC? = BC x DC'.

o Watch Video Solution

9. Attempt any Two of the following:

In the adjoining figure seg PA , seg QB seg RC and seg SD are L linel.


https://dl.doubtnut.com/l/_DWLwUiUQFcAQ
https://dl.doubtnut.com/l/_LTpS1D0LwaeE
https://dl.doubtnut.com/l/_8ETZmQIny7Ec

AB=60,BC=70,CD=80.If PS=280 then PQ,QR,RS.

o Watch Video Solution



https://dl.doubtnut.com/l/_8ETZmQIny7Ec

10. Atempt any two of the following :

In APQR ray MX and ray MY bisect ZPM@ and ZPMR respectively .

P-X-Q,P-Y-R.Seg PM is a median , prove that seg XY || seg OR

P

o Watch Video Solution

11. Atempt any two of the following :

In the adjoining figure , in the adjoining figure , in


https://dl.doubtnut.com/l/_ldda6BsiahU1
https://dl.doubtnut.com/l/_3VwIGxdBvOLv

A(AAPQ) AP x A
A(AABC) ABx A

AABC,A — P — B and A — @Q — CProve that

A

o Watch Video Solution

12. Atempt any two of the following :
Prove : In a triangle the angle bisector divides the side opposite to the

angle in the ratio of the remaining sides.

o Watch Video Solution



https://dl.doubtnut.com/l/_3VwIGxdBvOLv
https://dl.doubtnut.com/l/_WUioNTHQdIl4

